4km 7}

19 A& A% skm 2 230k Z27H W e =H] 2% 6 A7

4

=S
L

o), £t t= Al 3km 2 A3, YL oo

~
o

ol
—

Plo

?

1_:'—
g

4w 42 A

sArt &

B

55
ka

©)



2. SR Zhth o6 2 e A% sk 2 A1, 2 0 2 ujRc
Tk & @ A A% dm 2 A9 EAT] 7t oy mE
Azkol AZtka @ w, EAPIIA G Aelg Ftolet,

= km



3.  dak FolA 8kmEolA stwrtA] 7Hed A-golE AL 3kmE
A7t mFol Al 5km & FolA] 2 AZiete] Eabstdct. Flwrt
Hol7k Al Fatoiet,

S



Selo]ie oA ste] skan Wol 2l 1] el 7 ], A0S
oF3 A% 12km B Gkt £ 5] A4 dkm 2 ol A 352
=S olrk AolH 2 AelE Ftoler,

B e km



=9 Zo]7} 800m ¢ 7k Utk 84 9
& FAO 22 W o s W 10 7 o whar, v Beke
EH 2 2 Fof whdthal ftot. @4do]o] £o] SRdolo £YH
mEohyl o off, g4do]9] £229
@® 100m/ & @ 200m/ & ® 240m/ &
® 300m/ &

@ 260m/ £



